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Pairs of Angles Practice

sestions 1 through 3 refer to the following:

A

fmzCBD = 20° and meDBE = 45°, find meEBC.

204 45 = (6°
[ cE®C= 05°)

s 1)

2) IfmsABD =70°, meEBD =40°, find meABE.

- q0 - 40=3¢°

3)  IfBEbisects ZABD and m£ABD = 66°, find mcABE.

b =33°

—
.

LA%E:3?>O

4) Find the measure of the complement of 60°.

a0-60=f30

5) Find the measure of the supplement of 120°.

150 -120=[6R
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9 Find the measure of the o_umht_!_t_ofw'.
130 -0 207
7 Tw angles have measures in the ratio
24, What is the measure ofthe /arger engle?
B) 120° D) 30°
Y. X 4Qq0)=bX
© 40 3o =b¥%
@0 =X
) The measures of two supplementary angles are in the
ratio 2:7. Find the measure o ler angle.
A) 902 c °
Qm D) 20°
2 _X  20130)=4X
a 180  24,0=4AX
Ho =X

9 ZA and £B are supplementary and the measure of .B

is S less than four times ZA., Find mZA.
R = 4(A)-5
H(A) -5 +A =130
' SA-5=(30
SA = ‘85

100 LA and £Bare complementary and the measure of £B
is 2 more than three times the measure of ZA.
Find meB.

r\”w

= 3(AY+2 2A+2+A= 40
B3AY 4 A+2=90
3D+ HA=33
£3= (&° A=22
1 i: :itg’h:néan :ute angle, )ight angle, obtuse angle, or
ocote %

(”3
10



)

Is 145° an acute angle, right nngb,ot

straight angle?

Obtuse x.

__13 i :.' > i acute angle, right angle, obtuse angle, or

S*fa'\s\\* X

Questions 14 and 15 refer to the following:

In the diagram below, XGand EN intersect at A, AM 4 XG, and
mZGAN=20°,

(/" - i A 20°
N

Name an angle adjacent to ZMAG.

__ 149
X. MAX
x GAN
15 Find the measure of the supplement of ZEAG,
Zo®

£1and £2are supplementary. Ifm1 = (3x - 17)° and
mz2=(5x +21)°, find the value of x.

Ayx-\T +Sx+2\=130
85(+‘+=I&O
x =170
x=22

—10)

%

—19

B
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Zliend L2arp lormentary ol =(x + 3)° and
ML2 = (4r - 8)°, find the valoe ofx.
X+ 3 ryx-8 = Q0
S X% ....6 - QO

5y =A5
In the sccompanying dlagram, BA 1 BC, and B5 »

drawn.
r

|t

*\\3
B y 4

‘fx./s

c

IfmeABD = (2x + 18)* and mgCBD = (4 - 18)°,
find x. Comp\e

2\4&){8* ‘\x—y@ = 40
ex =40
[x=15]

In the accompanying diagram, AB and CD intersect
atE.

i c
2x10
X 420
B
D
IfmzAEC=(2¢ +40)° and meCEB = +20)°, find x.
SUPP\@“\&Y\*—S
2x+40 + x +20=130
3x+60=\30
Dy 20
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